Example M — Non-VSDP Worker’s Comp — First 92 days

Semi-Monthly Salary is $1500, SP 99 CONTBASE is $1500, Workers Comp Daily
Indemnity Rate is $100, Timecard Status on HOBID is “Non-Auto”; 10 day pay
period. Employee on Non-VSDP Sick Leave Plan has a Worker’s Compensation
Claim. The claim is within the first 92 days of injury so the agency supplements
the Worker’s Comp payment to equal the Semi-Monthly Salary.

1. Calculate the amount of the Worker’s Comp payment.
a. $100 multiplied by 10 days = $1000
b. Use Special Pay 002 (WRK COMP) to pay $1000 on HUEOL1.
c. All indicators should be zeros, adjustment indicator is blank.
2. Calculate the amount of the Non VSDP Worker’s Comp Supplement.
a. $1500 - $1000 = S500
b. Use Special Pay 063 (WC SUPP) to pay $500 on HUEOL1.
3. Retirement Overrides are not necessary because retirement deductions

process on the amount of SP 99 CONTBASE regardless of the amount of
pay received. ORP Plan Retirement Deductions (9, 11, 14, 109, 111, and
114) will correctly process on the amount of earnings received for SP 002
and SP 063.



